




A Kristoffer Aronsson (2010)

q=40

Tahini in the shape of gas







Sensual and masterly virtous. Opposite to nervousness.






‘p’

bow against body with L.H




= away from performer

= toward performer

Guitar put with back on your lap.

‘f’


  

‘mp’










  

‘mp’

















  

‘f’










pont.

i mp


















i 

















i 

















i




















R.H




 

let ring




5









< e = e >








‘mp’




‘ppp’ ‘pppp’

(F-subito is performed 
sideways away from the body)

‘f’subito

   




  

‘mf’













 

 
Put away bow!

5



i

pont.



















i 




 



















R.H







i

pont.






 

















i 

















let ring





B

9















(q=50)
lift R.H from body
creating a wah-effect
after plucking, immediatly simile


pick up guitar
to standard position







R.H

















0

 

















 
















0

tasto




0


 



pont.












 

3

let ring
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



< e = e >

















 






























3I I




5
4







3



 I I
6

4
2I I





7



3

3






3

let ring
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

















i 



















 



let ring 

 



 








































 

















 











 













































3


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23









 

















3 







 















































 







 



















 


























5 5




28









< q = q. >



Daccel. 





 

















5





 

















(q=112,5)







Let everything ring till  I


















 



 



5




33



















































 












 




















39













I I
3
5

4







3



I I
5

4




 







































42







 E






















p






 






















45









I I
5
7

6 3I I




5
4 3I I





5
4





























2



47





 I I3
6

4



3 I I




5
4
















48








2



 I I
8






3
2I I





7
3






 molto rit.49



F

Tempo di E










f









I I
3

p

(Same tempo as before the rit.)






5
4




(q=112,5)






















51









I I


3
5

4

 

5



I I







7
6



5I I
7

6



 I I3
6







4

 

3



I I








5 4









53









I I
3

5
4

 

5



I I







7
6 5I I

7
6









 I I3
6






4



3I I




5
4














55









I I
3
5

4

 

5



I I







7
6 5I I



7
6










56



 I I



2
8

3 3



I I




5
4 2 I I





7
3
















pont. possible

ami

rasq

















< e. = q >

57









 I I3
6

4 2



I I
7

3
















3I I







5

4






 








3
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



< q = e. >



 I I



3
6

(q=150)



4





3I I




5



4




 I I3 6 4



 



  






 





60















I I




3
5

(q=112,5)

0





4

0















0 0















I I








2
7

3



 I I



3
6



 


 

4
3I I





5
4


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




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
















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





H





3I I




5



4 3I I











5



4





 
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



 
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6
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

4



3I I




5
4








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



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


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

2
8
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



5
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
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4







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


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
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
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2
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
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


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5
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 poco rit. 
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